Hold-Up Experiment Part 2

Instructions

· Rounds

Part 2 of the experiment consists of 5 rounds.

· Buyer’s Payoffs

*** Important - the Buyer's payoffs have changed. ***

The cost to the Buyer of making the investment has now increased from £500 to £1,000. So the Buyer's payoff from keeping the same supplier has now reduced from £250 to £−250 and the Buyer's payoff from changing suppliers has now reduced from £−500 to £−1,000.

· Table of Payoffs

The following table summarises the payoffs to both Buyer and Supplier.

	Table of Payoffs

	Buyer's potential saving is £1,500.
Buyer's investment costs him/her £1,000.
Supplier can raise price by £750.

	Buyer's First Decision
	Supplier's Decision
	Buyer's Second Decision
	Buyer's Payoff
	Supplier's Payoff

	Do Not Invest
	(none)
	(none)
	£0
	£0

	Invest
	Keep Price
	(none)
	£500
	£0

	Invest
	Raise Price
	Keep Supplier
	£−250
	£750

	Invest
	Raise Price
	Change Supplier
	£−1,000
	£−1,000


· Game Tree 

The following so-called game tree shows the order of the various decisions and their consequences.
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Investment now costs 1000 – potential savings 500.


· Record Sheets

The instructor will give out new record sheets for Part 2 of the experiment. Don’t forget to write your team number in the box in the top right corner. A box is also provided for you to carry over your Total Payoff from Part 1.
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